.“\-'é'

2 .
Fa
A

\
' o
5 Eipnr @ {u\@sii 7@

(M) ZMS"‘O ' ~_

\\fc)og M?ﬂ B /\Z '2' L = (D \7\“\\\\\6\ / K)’
A= aoj =2 C}O,o w A7 L (OO“ R

“1009: 0% + Co 15 = B, 0,9=0

iy

By= 1ol %

(D =1 b+ Ay=0 /*3 ey

(y) 20402 +B15 =0 "““%Om/

-

(=) =FO,LN + A =0 = AT %0 N

"j;i T e o f\’B »,w««”*"ww Wf’
= (f/w& ) /A eA&* r /\#{f{ F = !{
(-0 N (5@ """" AG"’*‘ e /
B [ _iE”LQ o O H\> 2 ~ .j{ )
= = Flow, 00 o.20) >/ _wy
) 05) Te L--
= _ \ VA,
@ (D)’ ) O J Dz}) /<7"l - (O , O , w/OOﬂ} WD?«
A=
ZK’\ © ’([A K fﬁfkﬁ’ N (“ . D -+ (e X 1 — (D LCew” (Q 5t 024, 0, ?2>
* }:(_A: <O|C‘ 5 (@] )(’))
) Sy 4y Er € € 2 2x €y e Teo= (0, 10, 0)
z’:ﬂf W0 o iE [O e o+ (927 0k Ol%i = Cea=(0 023,01k, 036)
-04% 0729 0,86 1L)‘( e '\;): O e ‘}OOO\‘\

=Ty 0 0RLE + 23 04029 412D, - ey 12Dy = 5 Ob100q + 240271004 = O

= o,'z 71009 2472 0]

My
NS
p
i

%:a
~_0
9’m
~ o5
ey
11

{

41

-
Tee—

D= Dan = 496

20
X
¥

N

7
o
G
C’>
i
5
(/';
>



